
Lines : You like y = mx +b

un slope
I like y = yo + m(x -Xo)

(osyo at on line,

How about 3-d?

3 different forms

1) Vector form
. & blaringpointsthes !

Given a point p = KosYo, zo

and a rector I
S

(t) = j + t =
o

This form is good for describing all Me points,
one per choice of to

E.g .

Find line contains <12-17 and <3, 1,27
I F



p = < 1
,
2
,
- 17

i = j-p = (2 ,
-/37

F (E)=(1) + t (2,
- 1

, 37

Vector form- described by a point, anda

direction,

(5, 0, 77
F() = ( 1 +2+

,
2 -t
, 1 +37]

X = 1 +2t

J "permetric form"
y

= 2-E

z
= 1+3t split into three equations

and essentially the some

One more: solve fort in above:

t=* t= t=- I

* = =E



This feels wierd. But youan usei

toguakly check if a point lies on the line.

25,
0
, 77 ? =2, Est=~

(1 , 2, 37? =00 , 350X

p = <ooo Y=Labic]

x = Xo +at X=
y = yo+

bt

z=zotct

~
me

un so booked forth between bothHoms.

Possible relations: for two lines &Ht) = p,
+ vit

I(t)= 2+Et

1) same !
2) one intersection point



17, 3)3) parallel
V..
12 parallel.

4) more of theabove Istan

iDoT
See text for examples. ornot

1) and 3) read to are parallel.
~

1) have all points in comay 3) non

2) and 4) and not paralle.
-

Solve &(A) = tels) Jet's for sit.

probably to solution-
(skew!)-

Observations

- If you
rescule I

, you
describe

the some line

· If you chase the point to u

different point on the sure live

you describe the same line.



X = 1+3t X = -2 +4s

Y = 2-t la 4 = 3 + 5

di1lz = t ZE S + 25

t = 5+ 2s

2 - (S+ 2s) = 3 +s

- 3 - 25 = 3 +S

0 = 6 + 35

3 = -2k= +

But
X = 4 vs X = -10

So of



Physical way to think

ubent this :

To stating point at to

E constant velocity.

FIE) tells your where an object with

constant velocity is at each to

Change to on the live just clases

stating pant

ChangeI by sealing just clases

speed , (but not the line!)



Fin tricks Q =
k

-
How far isa from theline? (h)

It's a and.
But 11 Q xfallllsint

So = asine
= Il x()

↑unit rector!


